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Note :This paper is of Seventy (70) marks divided into two

(02) Sections A and B. Attempt the questions con-

tained in these sections according to the detailed in-

structions given therein. Candidates should limit their

answers to the questions on the given answer sheet.

No additional (B) answer sheet will be issued.

            

         





       
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Section–A / 

(Long Answer Type Questions) /    

Note :Section ‘A’ contains Five (05) long-answer-type ques-

tions of Nineteen (19) marks each. Learners are re-

quired to answer any two (02) questions only.

(2×19=38)

     (05)    

     (19)   

(02) 



1. What do you think of managing working capital?

Describe its importance.

        

   

2. What do you mean by capital budgeting. Describe

the importance of capital budgeting.

        
   

3. Discuss the objectives of Dividend policy. Explain

the factors affecting the Dividend policy.
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

      

4. Find out working capital by operating cycle method

take 360 days in a year.



    

Sale  9,000 Unit @ Rs. 100 Each

Material Cost Rs. 50 Per Unit

Labour Cost Rs. 25 Per Unit

Overheads Rs. 15 Per Unit

Customers are given 45 days 'credit and 50 days'

credit is taken from suppliers Raw materials for 30

days and finished goods for 15 days are kept in stock.

Production cycle period is 25 days.

           

          

           

        
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5.       

The capital structure of Shobha Ltd. is as under:      Rs.

2,000, 6% Rs. 100 Debentures

(First Issue)  2,00,000

1,000, 7% Rs. 100 Debentures

(Second Issue)  1,00,000

2,000, 8% Cum. Preference Shares

of Rs. 100 each   2,00,000

4,000 Equity Shares of Rs. 100 each       4,00,000

Retain Earnings          1,00,000

       

        

 

  

The earning per share of company in past many years

has been Rs. 15. The shares of the company are sold

in the market at the book value. The company tax

rate is 50%. Find out the Weighted Average Cost of

Capital.
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Section–B / 

(Short-Answer-Type Questions) /    

Note : Section ‘B’ contains Eight (08) short-answer-type

questions of Eight (08) marks each. Learners are

required to answer any Four (04) questions only.

     (4×8=32)

    (08)      

      (08)   

  (04)  

 

1. Explain the objectives of Financial Management.

      

2. Describe the importance of working capital.

    

3. Describe the limitations of capital budgeting.

    

4. Discuss the Gordon's model regarding the dividend

policy.

      
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5. Distinguished between cash flow statement and fund

flow statement.

        

6. What is Leverage? Explain its types.

       

7. Write the elements affecting long term finance.

       

8. Discuss the International Finance management.

     

**********
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